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0DQXHO�*XVWDYR�5RGUtJXH]�7DUD]RQD

5(680(1�

(O� GHVDUUROOR� GH� HVWH� WUDEDMR� GH� LQYHVWLJDFLyQ WXYR�REMHWLYR GHWHUPLQDU� OD� SRVLEOH�
UHODFLyQ�HQWUH��/DV�$FWLYLGDGHV�0LOLWDUHV��\�ORV�5HVXOWDGRV�GH�$SUHQGL]DMH�GH�ORV�(VWXGLDQWHV�
GHO�&HQWUR�GH�(GXFDFLyQ�%iVLFD�$OWHUQDWLYD�D�&DSLWiQ�)XHU]D�$pUHD�GHO�3HU~�-RVp�$EHODUGR�
4XLxRQHV�*RQ]DOHV� ������� /D�PHWRGRORJtD� TXH� VH� HPSOHR� IXH� GH� WLSR� DSOLFDGD��PpWRGR�
FXDQWLWDWLYR��QLYHO�GHVFULSWLYR�FRUUHODFLRQDO��GLVHxR�QR�H[SHULPHQWDO�\�FRUWH�WUDQVYHUVDO���/D�
PXHVWUD�HVWXYR�FRQIRUPDGD�SRU����HVWXGLDQWHV�GHO�&HQWUR�GH�(GXFDFLyQ�%iVLFD�$OWHUQDWLYD�
&DSLWiQ�)XHU]D�$pUHD�GHO�3HU~�-RVp�$EHODUGR�4XLxRQHV�*RQ]DOHV��6H�HPSOHy�HO�FRHILFLHQWH�
GH�FRUUHODFLyQ�GH�6SHDUPDQ�SDUD�UHODFLRQDU�ODV�YDULDEOHV�\�GLPHQVLRQHV��6H�FRQFOX\y�HQ�TXH�
ODV� DFWLYLGDGHV� PLOLWDUHV� QR� HVWiQ� UHODFLRQDGDV� VLJQLILFDWLYDPHQWH� FRQ ORV� UHVXOWDGRV� GH�
DSUHQGL]DMH��

3DODEUDV�FODYHV� $FWLYLGDGHV�PLOLWDUHV��DSUHQGL]DMH�\�FDSDFLGDGHV

$%675$&7

7KH�GHYHORSPHQW�RI�WKLV�UHVHDUFK�ZRUN�KDG�DV�REMHFWLYH�WR�GHWHUPLQH�WKH�SRVVLEOH�
UHODWLRQ�EHWZHHQ�0LOLWDU\�$FWLYLWLHV�DQG�WKH�/HDUQLQJ�5HVXOWV�RI WKH�6WXGHQWV�RI�WKH�&HQWHU�
RI� %DVLF� (GXFDWLRQ� $OWHUQDWLYH� WR� &DSWDLQ� $LU� )RUFH� RI� 3HUX� -RVp� $EHODUGR� 4XLxRQHV�
*RQ]DOHV��������7KH�PHWKRGRORJ\�XVHG�ZDV�DSSOLHG�W\SH��TXDQWLWDWLYH�PHWKRG��GHVFULSWLYH�
FRUUHODWLRQDO�OHYHO��QRQ�H[SHULPHQWDO�GHVLJQ�DQG�FURVV�VHFWLRQ��7KH�VDPSOH�FRQVLVWHG�RI����
VWXGHQWV� IURP� WKH� $OWHUQDWLYH� %DVLF� (GXFDWLRQ� &HQWHU� &DSWDLQ� 3HUXYLDQ� $LU� )RUFH� -RVp�
$EHODUGR� 4XLxRQHV� *RQ]DOHV�� 7KH� 6SHDUPDQ� FRUUHODWLRQ� FRHIILFLHQW� ZDV� XVHG� WR� UHODWH�
YDULDEOHV� DQG� GLPHQVLRQV�� ,W� ZDV� FRQFOXGHG� WKDW� PLOLWDU\� DFWLYLWLHV� DUH� QRW� VLJQLILFDQWO\�
UHODWHG�WR�OHDUQLQJ�RXWFRPHV�
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